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Section : English Language

Q.1 Select the most appropriate ANTONYM of the underlined word.
This novelist is known for his verbosity.
Ans 1. Vengeance
2. Succinctness
3. Humility

4. Candour

Question ID : 264330143185
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate homophones to fill in the blanks.
| got while replacing the .

Ans 1. tyre; tire
2. tyred; tire
3. tired; tier

4. tired; tyre

Question ID : 264330149880
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate ANTONYM for ‘refuse’ in the given sentence.
Shama was allowed to visit the accommodation places for the devotees of the shrine.
Ans 1. Allowed
2. Visit
3. Accommodation

4. Shrine

Question ID : 264330144113
Status : Answered
Chosen Option : 1




Q.4 Select the most appropriate option to fill in the blank.
The CEO’s disregard for his employees’ well-being led to high turnover and
low morale in the company.

Ans 1. calous
2. callus
3. callous

4. calus

Question ID : 264330143965
Status : Answered
Chosen Option : 3

Q.5 Select the sentence that has a grammatical error.
Ans 1. Rama can bowl fastly.

2. Go back to your room.
3. Don't talk so loudly.

4. Run quickly.

Question ID : 264330149684
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the given word.

Raciness
Ans 1. Filth

2. Perfection
3. Lewdness

4. Obscenity

Question ID : 264330150833
Status : Not Answered
Chosen Option : --

Q.7 Sentences of a paragraph are given below in jumbled order. Select the option that
arranges the sentences in the correct logical sequence to form a meaningful and
coherent paragraph.

A. |l once met a gentleman who told me about a game he plays with his grandchildren.
B. He shares a titbit or two and it starts off a conversation.

C. He then asks his teenage grandchildren if they know who those people are.

D. He picks some names of politicians, rock stars or even criminals from his
generation.

Ans 1.A,B,C,D
2.A,C,B,D
3.B,A,C,D
4.A,D,C,B

Question ID : 264330144340
Status : Answered
Chosen Option : 1




Q.8 The following sentence has been split into four segments. Identify the segment that
contains a spelling error.
You cannot / compensate for the / wrongdoings you have / comitted in the past.

Ans 1. You cannot
2. comitted in the past.
3. wrongdoings you have

4. compensate for the

Question ID : 264330144289
Status : Answered
Chosen Option : 3

Q.9 Select the option that expresses the given sentence in active voice.
The snake was killed by Shyam.

Ans 1. Shyam killed the snake.
2. Shyam kills the snake.
3. Shyam has killed the snake.
4. Shyam had killed the snake.

Question ID : 264330147560
Status : Answered
Chosen Option : 1

Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

I brought / an apple from / a place you recommended / me earlier.
Ans 1. | brought
2. me earlier
3. a place you recommended

4. an apple from

Question ID : 264330148950
Status : Answered
Chosen Option : 3

Q.11 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
P. and allows them to come out of their imaginary world
Q. which helps in illuminating and enlightening the dark world
R. of two blind or visually impaired persons
S. eye donation is a very generous act towards society

Ans 1. SQPR
2. SRQP
3. SPQR
4. SQRP

Question ID : 264330151312
Status : Answered
Chosen Option : 4




Q.12 Select the option that expresses the given sentence in active voice.
Let the door be shut.

Ans 1. You are requested to shut the door.
2. The door should be shut.
3. Let you shut the door.
4. Shut the door.

Question ID : 264330143057
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate ANTONYM of the underlined word in the given sentence.

The loyal nature of the princess was one of the reasons that the king trusted her very
much.

Ans 1. infamous
2. treacherous
3. livid

4. unyielding

Question ID : 264330144258
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Amar is very good in mathematics.

Ans 1. good at
2. good about
3. good on

4. good with

Question ID : 264330143164
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate option that can substitute the underlined words in the
given sentence.

The company is planning to cut back few employees.
Ans 1. reduce some

2. lay off some
3. refuse some

4. lay down some

Question ID : 264330144137
Status : Answered
Chosen Option : 2




Q.16 Select the most appropriate meaning of the given idiom.
Have a narrow escape

Ans 1. Only just succeed in doing something
2. Likely to fall in the near future
3. Do something very risky

4. Just manage to avoid danger or trouble

Question ID : 264330143660
Status : Answered
Chosen Option : 4

Q.17 Select the INCORRECTLY spelt word from the given sentence.
The city had a hundred thousand inhabitents—some think double as many.

Ans 1. Hundred
2. Inhabitents
3. Double

4. Thousand

Question ID : 264330149873
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate idiom for the underlined words in the given sentence.
The childhood days are peaceful days of our life.
Ans 1. halcyon days
2. live wire days
3. all years

4. hard and fast days

Question ID : 264330144314
Status : Answered
Chosen Option : 1

Q.19 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
P. the news of her husband's death
Q. to break to her as gently as possible
R. great care was taken
S. knowing that Mrs. Mallard was afflicted with a heart trouble

Ans 1. SPRQ
2. SPQR
3. SQPR
4. SRQP

Question ID : 264330149707
Status : Answered
Chosen Option : 4




Q.20 Select the most appropriate option that can substitute the underlined words in the
given sentence.
No sooner did we arrived at the airport than we got onto our flight to Atlanta.

Ans 1. did we arrive at
2. can we arrive by
3. have we arrived at

4. had we arrive at

Question ID : 264330144269
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tea prices in the domestic market continue to rule high in the (1) year despite the
expectation of a higher production as compared to the previous year. According to a
preliminary assessment (2) on the weather (3) in recent months, tea output in
the next year may reach to 800 tonnes as (4) 780 tonnes last year. During the past
three months, tea prices have shown an (5) . Unlike last year, when tea prices were
dramatically low, this year, prices seem to have stabilised at rather high levels.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. first

2. current
3. second

4. last

Question ID : 264330148728
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tea prices in the domestic market continue to rule high in the (1) year despite the
expectation of a higher production as compared to the previous year. According to a
preliminary assessment (2) on the weather (3) in recent months, tea output in
the next year may reach to 800 tonnes as (4) 780 tonnes last year. During the past
three months, tea prices have shown an (5) . Unlike last year, when tea prices were
dramatically low, this year, prices seem to have stabilised at rather high levels.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. shared

2. based
3. flown

4. carried

Question ID : 264330148729
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tea prices in the domestic market continue to rule high in the (1) year despite the
expectation of a higher production as compared to the previous year. According to a
preliminary assessment (2) on the weather (3) in recent months, tea output in
the next year may reach to 800 tonnes as (4) 780 tonnes last year. During the past
three months, tea prices have shown an (5) . Unlike last year, when tea prices were
dramatically low, this year, prices seem to have stabilised at rather high levels.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. outbreak

2. forecast
3. condition

4. pattern

Question ID : 264330148730
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tea prices in the domestic market continue to rule high in the (1) year despite the
expectation of a higher production as compared to the previous year. According to a
preliminary assessment (2) on the weather (3) in recent months, tea output in
the next year may reach to 800 tonnes as (4) 780 tonnes last year. During the past
three months, tea prices have shown an (5) . Unlike last year, when tea prices were
dramatically low, this year, prices seem to have stabilised at rather high levels.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. about

2. compared
3. against

4. above

Question ID : 264330148731
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tea prices in the domestic market continue to rule high in the (1) year despite the
expectation of a higher production as compared to the previous year. According to a
preliminary assessment (2) on the weather (3) in recent months, tea output in
the next year may reach to 800 tonnes as (4) 780 tonnes last year. During the past
three months, tea prices have shown an (5) . Unlike last year, when tea prices were
dramatically low, this year, prices seem to have stabilised at rather high levels.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. decline

2.incline
3. upgrade

4. uptrend

Question ID : 264330148732
Status : Answered
Chosen Option : 2

Section : General Intelligence

Q1 Ifit was Tuesday on 22 July 1969, then what will be the day of the week on 6 August 1985?

Ans

1. Tuesday
2. Thursday
3. Monday

4.

Question ID : 264330147460
Status : Not Answered
Chosen Option : --

Q.2

Ans 1.

Question ID : 264330146639
Status : Answered
Chosen Option : 3




Q.3

Ans 1.
2. 338
3.
4. 224
Question ID : 264330147431
Status : Answered
Chosen Option : 3
Q.4
Ans 1.
2.
3.
4,
Question ID : 264330147273
Status : Answered
Chosen Option : 2
Q.5
Ans 1
2.
3.
4 Question ID : 264330147067
Status : Answered
Chosen Option : 3
Q.6
Ans 1.
2.
3.
4.

Question ID : 264330146624
Status : Answered
Chosen Option : 1




Q.7

Ans 1 113
2. 103
3.
4. Question ID : 264330147383
Status : Answered
Chosen Option : 3
Q.8
Ans

G DN B&E B

OO IR 2N N NEC D)

Question ID : 264330146758
Status : Answered
Chosen Option : 4




Q.9

Ans
Question ID : 264330146473
Status : Answered
Chosen Option : 2

Q.10
Ans 1. 7S

2. kq

3. pl

4. |I"I Question ID : 264330147189

Status : Answered
Chosen Option : 2




Q.11

Ans 1 16-24-10
2.15-18-9
3.26-37-15
4.22-45-21

Ans 1. 41
2.
3.
4. 43 Question ID : 264330147036
Status : Answered
Chosen Option : 1
Q.12
Ans 1.
2.
3.
4. Question ID : 264330146338
Status : Answered
Chosen Option : 2
Q.13

Question ID : 264330150909
Status : Answered
Chosen Option : 1




Q.14

Ans
1. i
2. \
3. ‘
4.
Question ID : 264330146308
Status : Answered
Chosen Option : 2
Q.15
Ans 1.
2.
3.
4.

Question ID : 264330146960
Status : Answered
Chosen Option : 2




Q.16

Ans 1.
2.
3.
4. Question ID : 264330146333
Status : Answered
Chosen Option : 2
Q.17
Ans 1.
Question ID : 264330147127
Status : Answered
Chosen Option : 1
Q.18
Ans 1.
2.
3.
4. Sister

Question ID : 264330152006
Status : Answered
Chosen Option : 1




Q.19

Ans 1. 30
2. 37
3. 38
4. 35 Question ID : 264330152033
Status : Answered
Chosen Option : 2
Q.20 Read the given statements and conclusions carefully. You have to take the given statements to be true even if they

seem to be at variance from commonly known facts. You have to decide which conclusion/s logically and definitely
follow/s from the given statements.

Statements: All Eagles are Predators. All Tigers are Predators. Some Tigers are Cats.
Conclusions: (1) All Cats are Predators.

() All Eagles are Tigers.

Ans 1. Both conclusions (1) and (1) do not follow.
2. Only conclusion (1) follows.
3. Only conclusion (1) follows. Question ID : 264330151160
Status : Answered

4. Both conclusions (1) and (1) follow. Chosen Option : 1

Q.21

Ans 1.9
2. 9%
312
4.10

Question ID : 264330146914
Status : Answered
Chosen Option : 2




Q.22

Ans 1.3
2.2 .
Question ID : 264330152168
3.1 Status : Answered
4. 4 Chosen Option : 3
Q.23
Ans 1 TRS
2.
3.
4. Question ID : 264330146860
Status : Answered
Chosen Option : 2
Q.24
Ans 1.
2.
3.
4.

Question ID : 264330150995
Status : Answered
Chosen Option : 3




Q.25

Ans 1.

Question ID : 264330146342
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q1
Ans
1.
2.
3.
4.
Question ID : 264330147821
Status : Answered
Chosen Option : 1
Q.2
Ans 1.
2.
3.
4.

Question ID : 264330148764
Status : Answered
Chosen Option : 4




Q.3

Ans 1. 57
2. 08
3. 87
4. 52
Question ID : 264330148796
Status : Answered
Chosen Option : 3
Q.4
Ans 1.
2.
3.
4.
Question ID : 264330148174
Status : Answered
Chosen Option : 1
Q.5
Ans 1
2.
3.
4.

Question ID : 264330147970
Status : Answered
Chosen Option : 2




Q.6

Ans 1.
2. 15
3.
4. 12 Question ID : 264330148049
Status : Answered
Chosen Option : 2
Q.7
Ans 1. 17.77%
2. 15.55%
3. 16.66%
4, a,
14.44% Question ID : 264330149768
Status : Answered
Chosen Option : 2
Q.8
Ans 112
2. 15
3. 18
4. 21
Question ID : 264330150750
Status : Answered
Chosen Option : 2
Q.9
Ans 1.
2.
3.
4,

Question ID : 264330148232
Status : Answered
Chosen Option : 3




Q.10

Ans
11— 2sec’B
2.1 — 2cos?*B
3 2cos’B—1
4 2sec’B—1
Question ID : 264330148110
Status : Answered
Chosen Option : 3
Q.11
Ans 1.
2.
3.
4. Question ID : 264330149279
Status : Answered
Chosen Option : 2
Q.12
Ans 1.
2.
3 Question ID : 264330148756
. Not Attempted and
4. Status - Marked For Review

Chosen Option : --




Q.13

Ans 1 4GS
2.
3.
4.
Question ID : 264330147691
Status : Answered
Chosen Option : 2
Q.14
Ans 1.
2.
3.
4.
Question ID : 264330147724
Status : Answered
Chosen Option : 4
Q.15
Ans 1. 52{]
2. 525
3. 510
4. §15 Question ID : 264330149447
Status : Answered
Chosen Option : 4
Q.16
Ans 1.
2.
3.
4,

Question ID : 264330147884
Status : Answered
Chosen Option : 1




Q.17

Ans
Question ID : 264330147999
Status : Answered
Chosen Option : 2
Q.18
Ans
3. Question ID : 264330146806
Status : Answered
Chosen Option : 3
Q.19
Ans 610
47
43
By 10
47
6410
6y 10
43

Question ID : 264330146843
Status : Answered
Chosen Option : 4




Q.20

Ans 1
1.
b&-1
a8
2.
b8+1
a8
3.
b8-1
1
4,
b¥+1
Question ID : 264330150569
Status : Answered
Chosen Option : 1
Q.21
Ans
1.
2.1
3.
4,
Question ID : 264330147917
Status : Answered
Chosen Option : 3
Q.22
Ans 1. 94
2.
3.
4,

Question ID : 264330148118
Status : Answered
Chosen Option : 3




Q.23

Ans 1.

N

It becomes three-fourth of the time *t°.

4. Question ID : 264330151408
Status : Answered
Chosen Option : 3

Q.24

Ans 1.

[

bd =

w
.
b =

Question ID : 264330149339
Status : Answered
Chosen Option : 4

Q-25 The population of a certain village increases by 5 per cent annually. Its
present population is 8200. After two year the population will be
(approximately):

Ans 1.9200
2.9246
3.9040
4.9161

Question ID : 264330148245
Status : Answered
Chosen Option : 3

Section : General Awareness

Q1 In 2022, Former Supreme Court Justice was
appointed chairperson of the New Delhi International
Arbitration Centre (NDIAC) .

Ans 1.
2. Hemant Gupta
3.

4.

Question ID : 264330150062
Status : Not Answered
Chosen Option : --




Q.2

3. Western Guijarat
4. Coastal Maharashtra

Ans 1. Somnath
2. Mathura
3. Kalinjar
4. Kanauj
Question ID : 264330150090
Status : Answered
Chosen Option : 1
Q.3
Ans L1971
2.
3. 1975
4,
Question ID : 264330145912
Status : Not Answered
Chosen Option : --
Q.4
Ans 1.
2.
3.
4,
Question ID : 264330145812
Status : Answered
Chosen Option : 1
Q.5
Ans 1. Punjab
2. Kerala

Question ID : 264330144731
Status : Answered
Chosen Option : 1




Q.6

Ans 1.
2.
3.
4.
Question ID : 264330150702
Status : Answered
Chosen Option : 3
Q.7
Ans 1. 2.99%
2.
3.
4, )
Question ID : 264330145615
Status : Not Answered
Chosen Option : --
Q.8
Ans 1
2.
3.
4.

Question ID : 264330144681
Status : Not Answered
Chosen Option : --

Q9 The net worth of any bank is equal to

Ans

1.

2.

3. interest + liabilities

Question ID : 264330151339
Status : Answered
Chosen Option : 2




Q.10

Ans 1.
2.
3.
4.
Question ID : 264330145789
Status : Answered
Chosen Option : 4
Q.11
Ans 1. KCI
2.
3.
4.
Question ID : 264330145844
Status : Answered
Chosen Option : 3
Q.12
Ans 1.
2.
3.
4.
Question ID : 264330145754
Status : Answered
Chosen Option : 1
Q.13
Ans
1. Magha
2. Chaitra
3. Ashwin
4. Kartika

Question ID : 264330148664
Status : Answered
Chosen Option : 4




Q.14

Ans 1.
2. Bihar
3.
4,
Kerala Question ID : 264330150280
Status : Answered
Chosen Option : 3
Q.15
Ans 1.
2.
3.
4,
Question ID : 264330146544
Status : Answered
Chosen Option : 3
Q.16
Ans 1.
2.
3.
4,
Question ID : 264330144481
Status : Not Answered
Chosen Option : --
Q.17
Ans 1.
2.
3.
4,

Question ID : 264330150398
Status : Answered
Chosen Option : 1




Q18
Ans 1 Telangana

2. Karnataka
3.

4. Maharashtra

Question ID : 264330150238
Status : Not Answered
Chosen Option : --

Q.19 The structural part of the Indian Constitution is, to a large extent, derived from the Act

of
Ans 1.
2.
3.
4.,
Question ID : 264330146541
Status : Answered
Chosen Option : 2
Q.20
Ans 1.
2.
3.
4.
Question ID : 264330149367
Status : Answered
Chosen Option : 4
Q.21
Ans 1.
2.
3.
4, Question ID : 264330154820

Status : Not Answered
Chosen Option : --




Q.22

Ans 1.

Question ID : 264330144781
Status : Not Answered
Chosen Option : --

Q.23 SRD Prasad received the Padma Shri in 2023, for his contribution to the sport of

Ans 1. Jallikattu

2. Kalaripayattu

3. Boat Racing

4. Seval Sandai Question ID : 264330149933
Status : Not Answered
Chosen Option : --

Q.24
Ans 1.
2.
3.
4 Question ID : 264330151270
' Status : Not Answered
Chosen Option : --
Q.25
Ans 1.
2.
3.
4,

Question ID : 264330145713
Status : Not Answered
Chosen Option : --
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